
XSEDE™
 

 

1  

Proper product installation, in accordance with these instructions, is the responsibility of the installing agent. 
If you have any questions concerning these instructions, please call Kimball Office Customer Care. 

Part 3600760 Revision - 

Assembly Instructions 

 

 

Figure A                                  

Top Cap Frameless Glass / Resin 

Tools Required 

Hardware Required (Included) 

• Phillips screwdriver 

1. Unpack Frameless Glass or Resin and all hardware.  
2. Remove adhesive backer from felt strip and attach to    

bottom edge of Glass or Resin so equal amounts of felt are 
on the face and back, space evenly along length of glass, 
avoid placing on top of Slab Nut as shown in Figure A. 

3. Attach U-Channel to Top Cap for sizes 63” to 96” with 
Slab Nuts (2), Washers (4), and PHP 8-32 x .25 machine 
screws (2), then attach to Crossrail with PHP 8-32 x 1.125 
machine screws (2) 

4. Attach U-Channel to Top Cap and Crossrail for sizes 18” 
to 60” with Slab Nuts (2) and PHP 8-32 x 1.125 machine 
screws (2) 

5. With Felt attached to Glass or Resin press into U-Channel, 
insure that Glass or Resin is fully seated into U-Channel 

Installation 

Crossrail Attachment 
Shown 

                                 Glass Sizes 18-24 30 36-48 51-57 60-66 69-72 78-84 90 96 

#8-32 X .25 PHP Machine Screw 0 0 0 0 2 2 2 2 2 

#8-32 x 1.125 PHP Machine Screw 2 2 2 2 2 2 2 2 2 

#8 Washer 0 0 0 0 0 4 4 4 4 

Slab Nuts 2 2 2 2 2 4 4 4 4 

Felt 2 2 4 5 6 7 8 9 10 


